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&5 X 4 B | Finh oD EREE ADKRES R 4 TEMNSDKE| H& ADKRES X 4 B | LiImhonks ADKRES R 4 rmhosotkE | B ADKRES
(m) (m) (kN/m) EE &ff (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
7 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % — - ~ — —[3mZEBZ 2 -~ — — —
zh st 1.00 | 0.00 ~ 464 57.90 | NS | 000 ~ 464 1.86 9.93 zh st 1.00 | 5.00 ~ 5.00 57.90 | =R | 5,00 ~ 5.00)| 1.86 9.93
2 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — - ~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 000 ~ 703 89.18 | =S | 000 ~ 703 1.80 9.62 Zzh s 1.00 | 5.00 ~ 880 89.18 | =S | 5,00 ~ 880 | 1.80 9.62
3 100kN/m##Z25| 1.00| 000 ~ 144 121.95 |3m&xBZB| — ~ — — — | 100kN/mZ#B25 | 1.00 | 1074 ~ 1540 121.95 |3mEBZ3 -~ — — —
ThLlst 100|144 ~ 923 100.00 | This | 000 ~ 923|249 13.33 ThLlst 100|500 ~ 1074 100.00 | Zhs | 500 ~ 1540| 2.49 13.33
4 100kN/m#%#BZ%| 100|000 ~ 165| 12529 |3mEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1057 ~ 1616 12529 |3mZEHBZ23 -~ — — —
zh sk 100|165 ~ 944 100.00 | This | 000 ~ 944|243 12.99 zh st 100|500 ~ 1057 100.00 | Zhs | 500 ~ 1616\ 2.43 12.99
5 100kN/m#%#BZ2%| 100|000 ~ 212| 13281 |3mZEBZZ| — ~ — — — | 100kN/m%Z#B25 | 1.00 | 1053 ~ 1872 13281 |3m%E#BZ% -~ — — —
zh sk 100|212 ~ 990 100.00 | #nds | 000 ~ 990 | 2.38 12.73 zh sk 1.00 | 5.00 ~ 1053 100.00 | =nds | 6.00 ~ 1872| 2.38 12.73
6 100kN/m#%#BZ%| 100|000 ~ 197 13046 |3mZEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1085 ~ 1800| 130.46 |3mZEHBZ3 -~ — — —
zh sk 1.00 | 197 ~ 9.76 100.00 | =nds | 000 ~ 9.76 | 252 13.47 zh s 1.00 | 5.00 ~ 1085 100.00 | =nS | 6.00 ~ 1800 2.62 13.47
7 100kN/m#%#BZ2%| 100|000 ~ 132| 12004 |3mEBZZ| — ~ — — — | 100kN/mZ#B25 | 1.00 | 11.70 ~ 1626 120.04 |3mEBZ3 -~ — — —
ThLlst 100|132 ~ 911 100.00 | Fhidst | 000 ~ 911|265 14.20 ThLlst 100|500 ~ 1170 100.00 | Zhs | 500 ~ 1626\ 2.65 14.20
g 100kN/m#§25| 1.00| 000 ~ 261 141.03 |3m&EEZB| — ~ — — — [ 100kN/M#%#EZ 5| 1.00 | 11.23 ~ 2275 141.03 |3mZEEZS -~ — — —
zh sk 100|261 ~ 1040 100.00| Thds | 000 ~ 1040|295 15.80 zh st 100|500 ~ 1123 100.00 | Zhs | 500 ~ 2275 2.95 15.80
9 100kN/m#%#BZ2%| 100|000 ~ 262| 14128 |3mZEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 10.76 ~ 2200| 141.28 |3mZHBZ3% -~ — — —
zh sk 100|262 ~ 1041 100.00 | ThS | 000 ~ 1041|285 15.24 zh st 100|500 ~ 1076 100.00 | Zhs | 500 ~ 2200|2.85 15.24
70 100kN/m##Z25| 1.00)| 000 ~ 224 134.77 |3m&xEZB| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1080 ~ 1940 134.77 |3mZEHBZ3 -~ — — —
zh sk 100|224 ~ 1002| 100.00 | ThUs | 000 ~ 1002|251 13.41 zh st 100|500 ~ 108 | 100.00| Ths | 500 ~ 1940|251 13.41
11 100kN/m#E#BZ % — - ~ — — |3mZEBZxB| 000 ~ 020|519 17.07 | 100kN/m%EHBZ5 — - ~ — — |3mxBzB| 1500 ~ 1620|319 17.07
zh sk 1.00 | 0.00 ~ 6.70 84.67 | =hs |o0z20 ~ 670|300 16.06 zh st 1.00 | 5.00 ~ 1620 84.67 | TN | 5.00 ~ 1500 | 5.00 16.06
12 100kN/m#%#BZ2%| 100|000 ~ 112| 11692 |3mEBZE| — ~ — — — | 100kN/m%#B25| 1.00 | 1321 ~ 1765| 116.92 |3mZ#z23 -~ — — —
ThLlst 100|112 ~ 891 100.00 | Fhidst | 000 ~ 891|280 14.98 ThLlst 100500 ~ 1321 100.00 | =hs | 5.00 ~ 17.65| 2.80 14.98
13 100kN/m# x5 | 1.00)| 000 ~ 0.18 102.63 |3m&xEZB| — ~ — — — | 100kN/mZ#BZ25 | 1.00 | 1477 ~ 1547 102.63 |3mE#BZ3 -~ — — —
zh sk 100|018 ~ 796 100.00 | #nds | 0.00 ~ 796 | 2.90 15.54 zh sk 1.00 | 5.00 ~ 1477 100.00 | #nLS | 6.00 ~ 1547| 2.90 15.54
14 100kN/m##25| 1.00| 000 ~ 0.01 100.17 |3m%&xEZB| — ~ — — — | 100kN/mZ#B25 | 1.00 | 1625 ~ 1630 100.17 |3mEBZ3 -~ — — —
zh sk 100001 ~ 780 100.00| FThis | 000 ~ 780|298 15.95 zh sk 100|500 ~ 1625 100.00 | =hst | 500 ~ 1630| 2.98 15.95
15 100kN/m%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % — - ~ — —[3mZEBZ 2 - ~ — — —
Zzh s 1001000 ~ 734 93.63 | ThUS | 000 ~ 000|169 9.07 Zzh s 1.00 | 5.00 ~ 9.60 93.63 | TN | 5,00 ~ 9.60 | 1.69 9.07
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